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All questions are Compulsory

Tt ueer aiferart 2|
Question Nos. 1 to 8 are Multiple choice type which corry 1 mark each.

gosr WAl 1 A 8 dAd dgadedld ued & forAsr usw
AT 1 376 B

Question Nos. 9 to 15 are very short Answer type which corry 1 mark each.
geaT AT 9 A 15 ddb 3fa g I Ued & TSleidhl U
BT HST 1 376 B

Question Nos. 16 to 23 are very short Answer type — I which corry 2 marks

each.

gosT JFHAT 16 A 23 dd g Iadd— |
BT AT 2 3idH &

Question Nos. 24 to 31 are short Answer type — Il which corry 3 marks eachl

gooT TR 24 F 31 a® g IAda- 1l vesm & e ugis

BT HATS 3 3B & |
Question Nos. 32 to34 are long short Answer type which corry 5 marks eachj

gosT WHAT 32 A 34 Ao E IS ueel & foteihr Ul
HST 5 3ip |

(Multiple Choice Type Questions)

@gfrmedir ueer)

CaF, is an example of
(a) Co valent Solid (b) Ionic Solid
(¢c) Metallic Solid (d) None of these.

CaF, Gep 3€T820T 2|
(a) TBTATSTB STA BT
(c) enfeares @A @bT

Rate = K [H, O,] is on example of
(a) Zero order reaction
(c) Second order reaction
Jor=K [H, O0,] Teh 3IaT&EI0T & |

(b) 3mafers oA @1
(d)setdd I BIs T8l

(b) First order reaction
(d) None of these.

goe & fSfeiepr Uph
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(a) e hife aifdfcsar o (b) werad wite ITTHEAT &T
()T @I afdfear &1 (d)seet A P TS

Dry ether

cl
2 @/ +2 Na o +2 Nacl

The reaction is

(a) Rosenmund reduction (b) Fittig reaction
(¢) Wurtz reaction (d) None of these.
Cl qH 2T

2@/ +2 Na > Oy (9)+2 Nal
arfarfopar &

(a) ASTTHUS  3TAHI (b) TpStor  3tfariep=T

() gdst arfisa (d)zardt & P el
Zincite is on ore of

(a) Zn (b) Al

(c) Cu (d) Fe
SipTae 31UTB &

(a) Zn =BT (b) Al w1

(c) Cuepr (d) Fe @1
Chlorobenzene (i) NaOH, 623k, 300 atm A

(ii) H

‘A’ s

(a) Benene (b) Phenol

(c) Benzyl (d) None of these
FAR Teoitel (i) NaOH, 623k, 300 atm - A

Gy H |

‘AE

(a) Aeoilel (b) Wisitet

(c) AeoTTSeT Tohlged (d) et A ®rs 8l
Benzene + acetyl choloride Anhyd. Alcls A
‘A’ is

(a) Benzophenone (b) Acetophenone

(c) Acetone (d) None of these
Assilet + TAlfesT aeiiRss areme Alely 5
‘A -

(a) AsciITtHetrel (b) TherweTe

(c) A=t (d) et J Prs aél
Which enzyme helps in coverting sucrose into glucose and Fructose ?

(a) Lactase (b) Invertase
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(c¢) Urease (d) None of these
JHrT B ogbA U haeist A uRkafda weer A dle
UsslSd Jeg hIdal & ?

(a) SRSt (b) SeacH
(c) IRTES (d) sstdt A B8 TEr

CH; CONH, H;0"

g 2 A Product
the product is

(a) CH; NH, (b) CH3 COOH

(c) C, Hg (d) None of these
CH; CONH, H;0"

YA

3IqE B

(a) CH3; NH, (b) CH; COOH

(c) C, Hg (d) None of these

(Very Short Answer Type Questions)

@it =g 3T uee)

Calculate the over all order of a reaction which has the rate expression
Rate =K [A]* [B]'

IFMHRET @Y et pife @ oTvrer HIfSTE et dor =isis 8
=K [A] [B

Night blindness occurs due to deficiency of which vitamin?

py fTrefds & w3t X Ity sfgar adr &9

Write dispersed phase and dispersion medium of hair cream, a colldidal

solution.

ATt BT BH, TP Ppoiss doide T uiRfeara  wurazerm
ufdetgor FAremH o |

Write the monomer used for getting the polymer, glyptal.

Fgcieh, PeTest @l UTed dHRel & U Ugd Uheldh el |
Write [UPAC Name of

(CH3), CH CH(CI) CH;

(CH;), CH CH(Cl)CH; @1 3mgogodtorwozto e forsd |
Give an example of Ketopentose.

HIETerA BT TP ISTEIVT < |

Give an example of artificial sweetening agent.

BB HYIH BT TH IS8T & |

(Short Answer I Type Questions)
(g 3T 1 uee)
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Define Conductance and give its unit.

ATSTepaT bl UIHIG s gl SHDB! SHhe < |

Giving examples, differentiate between ‘roasting’ and *Calcination.’
3ITTEVT a4 B ofolel Ud fereamuer 3 3iar Idisu |
Why are halogens strong oxidising agents?

ereieT Uder 3fTaR{leRes RIT Bla & ?

Why are M,>" Compounds more stable than Fe*” Compounds towards oxidafi

to their +3 state ?
+3 aifRfieeeor srawen & sitRilga @t @ deef F M,
ABTeE Fe¥' & Aforept @t getenr 3 aifdes el a=it B €2
Complete the following :

N=N - cl
(@) @ CuBt/HBr
——
Br
473K
(b) @ tCuCN | ——*
(Pyridine)
SreeniaaRad Y 9T dHe
N=N-cl
(a) @ CuBr/HBr
R i
Br
473K
(b) @ ToueN =
(e

Differentiate between globular and fibrous proteins :
IR T IMTeprehz Widtel bt faaifea wifsiu |
Explain the difference between Buna — N and Buna -S.
[T —NdaT REAT-SPB HeI Ide FAAATSU |
Write briefly with one example

(a) Antihistamines.

(b) Tranquilizers

JFaT F U IeTEIur B JrI
(a) ufatarer

(b) weTTdh

sHI=2

+1=2

1+1=2

1+1=2

1+1=2

1+1=2
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(Short Answer II Type Questions)
g 3T 11 uee)

Distinguish between hexagonal and monoclinic Unit Cell.
wedofer 37T Teberdrel (monoclinic) Tebes hiftedst o e @3 |
Show that half-life of a reaction for zero order reaction is directly proportic
to the initial concentration of the reactant.

nal

gorli o e wife ot sifdifeer & fow sifdfchar & srefy,

atffhaes @Y uRfétes Algdr & AATFUTA! Bl B |

Explain the following terms :

(a) Aerosol (b) Hydrosol
(a) CIrATSA (b) ETSZI=ATA

How will you bring about the following trans formation ?

(a) Methyl alcohol to Methyl iodide

(b) Ethyl bromide to Ethene

(¢) Benzyl bromide to Benzyl Cyanide
reefoiRaa ufSadsa 3Tg BA wbar ?

(a) AT TUesblgar A AT F=AS=SS

(b)uferer sierss  J¥ wefle

(c) AfesTeT sraATSE A Afesiar ATETSS
Using TUPAL norms write the systematic names of the following :

() My (H0)6)**

(b) [N; (CO)4]

(© [Ti (H0)]™

[UPAL rradt & 3meR ur fereariarisa & Jeaanard sd fariRae:

(2) My (H20)6]™
(b) [Ni (CO)4]
(©) [Ti (H0)]”
What is Faraday is Law of electrolysis ?

BAS P Jgd 3Ugcs B T T B ?

Predict the Product :
CI.LI3 Cu
(a) CH3 - C - OH .
CH, 573K
G Anhydrous AICI;
(b) @ + CH; COCl >

H,O

() C,HsCOCI £ ,07 @

1

—

—_—

]

3+1%2 =3

»+1'2 =3

H1+1=3

+1% =3

+1+1=3




3ddle ddrst -

CH; C
| u
(a) CH3 - C - OH -
CH. 573K
o arare AlCl
(b) @ + CH; COCl >
H,O
(c) C,HsCOCl >
31 Complete the following reactions : I+1+1=3
(a) XeOF, + SiO, Tk
(b) CaF, 5 H,SO, —*
(¢) Scl, + NaF ——
CreateRaa aifframat &1 grr *9 -
(a) XeOF, + SiO, s eyt
(b) CaF, + H,SO, —
(¢) Scl, *+ NaF —_—

(Long Answer Type Questions)
@ 3TT uee)

32 A Solution is obtained by mixing 300 g of 25% Solution and 400 g of 40% 5
Solution by mass. Calculate the mass percentage of the resulting Solution.
SRIATUT B gite A 25% faeT=ret @& 300g TF 40% & 400¢g | Y
3MuA H THomer TR urd fHSOT @ gemeETer  ufdera Afeor
ferasTteTe |

OR 7 3ferar
For the reaction : S
2A+B — A, B
the rate = K [A] [B]* with
K=2.0x10"° mol™® L? s™'. Calculate the initial rate of the reaction when [A]
=0.1 mol L', [B]=0.2 mol L™ . Calculate the rate of reaction after [A] is
reduced to 0.06 mol L™".
affdsar 2A+B— A, B@& f&w o1 = K [A] [B wsl K1 fHrer
2.0x107° mol™® L? s | Ui dAor @t orvren WBifSE, o |[A]
=0.1 mol L'wa [B] =02 mol L™ & e aifarfesar dor & ofpren
BT, 5@ [Alge @2 0.06 mol L? %8 Sw|
33 Write the Conditions to maximise the yield of ammonia by Haber process. What = |3+2=5

happen’s when NHj reacts with
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(i) Cu** and (i) Cl, ?
BlaT UBHA BRI FAAAT B IdUed  wgra H ITIRs
g3t @ o=t | = gar @ siw NH; 3 sifaifeear wsear 2

(i) Cu** and (i) Cl, ?

OR / 3terar
Discuss the general characteristics of Group 15 elements with reference t¢ (i)
Oxidation state (ii) ionisation enthalpy and (iii) eleetron gain enthalpy.
gof 15 @ Tl B ATAST IJUIETHI B Ieid (1) IiTeoilapor
FaRaT (i) 37MHReT Tededl wa (iii) Sciegial ufta wededl & Heof
#H Rdger @3
Write short notes on the following :
(a) Wurtz -  Fittig reaction
(b) Reimer - Tiemann reaction
(c) Etard reaction.
fereettorRaa o= Aféra fewoft o= -
(a) gcsr — ToRfear aifafesar
(b)IrsFAT — Saver f3fes=am
(c) Serg srfartsarT
OR 3f12rar
Identify ‘X’, ‘Y’ and ‘Z’ in the following :

KOH(aq)

- CH=CH, HB
(a) CH; ) 1 el

R-O-O-R

(b@)m{3 L/NaOH | .y. NaOH ..

(C)(D&OCH_; HNO3 / HzSO4 e <7

freafaRaa & ¥ ‘X, ‘Y gar ‘2’ &Y usdara

KOH(aq)

- CH=CH, HB
(a) CH3 C 5, r x v

R-O-O-R

(b%)CH3 I,/ NaOH x NaOH oy

(c)é()cm HNO;/H,80:, ., ,7 /,>

12+1Y,
H2=5

L2+1Ys
+2=5

+2+1=5
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